Name: _____________________________________

Date: ____________

Multiplying and Dividing Monomials           
          NYS Regents Exam Questions  

                                                                                                         from 2007 – Aug 2014
Power to a Power

_____1. Which expression is equivalent to
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Multiplying Monomials (Law of Exponents)

_____1. What is the product of 
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_____2. Which expression represents 
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 in simplest form?
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_____3. Which expression is equivalent to 
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_____4.  The product of    6x3y3  and    2x2y   is





(1)  3xy2

(2)  8x5y4

(3)  12x5y4
       (4)  12x6y3
_____5.  What is the product of 3a2b and - 2ab3  ?

(1) a2b3 

(2) a3b4

(3) -6a2b3 
       (4) -6a3b4
Dividing Monomials (Law of Exponents)

_____1. Which expression represents 
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_____2. Which equation represents 
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_____3. Which expression represents 
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_____4. The expression [image: image34.png]


 is equivalent to
(1) 4x4


(2) 4x5


(3) 8x4


(4) 8x5
_____5. The quotient of [image: image35.png]8’ - oxt 42 - o

%



 is
(1) 16x7 – 4x6 + 8x5 – 12x4

(3) 4x3 – x2 + 2x – 3x

(2) 4x7 – x 6 + 2x5 – 3x4

(4) 4x3 – x 2 + 2x – 3


_____6.  Which expression is equivalent to [image: image36.png]- 1axt v 2n?
P



?

(1)   x3 – 9x2



(3)   x3 – 9x2 + 1

(2)   x4 – 9x2



(4)   x4 – 9x2 + 1



_____7.  What is [image: image37.png]24x%y° — 165
0~ 16x%y? + dy?
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_____8.   When    16x3 – 12x2 + 4x    is divided by    4x   , the quotient is

(1)   12x2 – 8x


(3)  4x2 – 3x

(2)   12x2 – 8x + 1

(4)  4x2 – 3x + 1
_____9. What is one-third of 36?

(1) 12


(2) 32  


(3) 35


 (4) 96
10.  Simplify: 
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